ІІ етап Всеукраїнської олімпіади з англійської мови 

                              ТУР І :  АУДІЮВАННЯ     ( 10 КЛАС)

                                                       ТЕКСТ
       The term "artificial intelligence" was first used by Professor John McCarthy in 1956. However, the idea of creating "thinking machines" appears over and over again throughout history. In the 3rd century BC, a Chinese engineer called Mo Ті made mechanical birds, dragons and soldiers and much later, in 18th century Europe, the nobility were delighted by mechanical figures which moved by clockwork. It seemed that making machines that moved and looked like human beings was easy. The difficult part would be to create a machine that could think like a human being.
      When computers appeared in the 1950s, many people thought that it would not be long before these impressive machines started talking, thinking for themselves and taking over the world. People predicted all kinds of things, from robot servants to computerized houses. None of it happened. Despite the billions of dollars and years of research given to developing artificial intelligence, computers are still unable to hold a normal conversation with a human being. In fact, although computers today can process information thousands of times faster than they could fifty years ago, they are only two or three times better at using human language than they were back then. In addition, the huge increase in computer use has proved that today's computers, with their Windows, mice, icons and commands, do not operate in the same way as the human brain. If this were not true, there would be no need for the thousands of tech support staff employed by call centres.
      The trouble is that, even though computers can turn speech into text, recognise objects by using cameras, search through endless amounts of data and even use robot mechanisms to move like human beings, they are unable to put all these abilities together and actually think and function like human beings. One of the reasons for this is that scientists still do not know much about how the human brain works, so it is impossible to program computers to copy the brain's processes. As for language, there is not much hope of computers ever being able to chat with human beings. Human language is complex and does not follow clear enough rules for computers to understand. A machine may be able to work out the grammar of a sentence, but it still cannot understand its meaning. It looks like the science fiction fans, who dream of robots which look and act just like us, had better keep on dreaming.
ТУР І: АУДІЮВАННЯ (10 КЛАС)

Task 1

Directions: in this part of the section you will listen to a text. After listening, look at the questions 1-10, decide, which of them are true (True) and which are false (False) according to the text you have heard.

Remember: you are NOT allowed to take notes at ANY time when the text is being read to you.
1.  It is not very difficult to create a human-looking machine.
2.  The term "intelligence" means ability to think.
3.  The hopes of people 50 years ago mostly came true.
4.  A lot of money has been spent in vain so far.
5.  In the text, intelligence and ability to talk are synonymous.
6.  Modern computers are based on the same principles as the human brain.
7.  Today computers combine a great number of various abilities.
8.  The greatest success has been increasing the speed of processing information.
9. The greatest problem in teaching computers to talk is the diversity of human language.
10.  We can hardly expect computers to talk.

Task 2. 
Directions: in this part of the section you will listen to the text for the second time. After listening look at the questions 11-20, decide, which of the given answers (А, В, С or D) best corresponds to what was stated or implied in the text you have heard and mark your answer in the booklet by encircling the letter of your choice.

11.  According to the text, people have been trying to create thinking machines: 

a)   since the third century BC;  b)   since the 1950s;  c)   since the 18th century;   d)   since history began.
12.  In the 18th century, mechanical figures:
a)   were operated by engines;   b)   amused wealthy people;
c)   were difficult to make;        d)   could be used to tell the time.
13.  People expected computers to be able to talk because:
a)    they were very expensive; b)    they were impressed by computers; 

c)    they wanted mechanical servants; d)   they believed computers would take over the world.
14.  Fifty years ago, computers were:
a)    thousand of times better at using human language; b)   two or three times slower at processing information;
c)    thousand of times slower at processing information; d)   two or three times worse at using human language.
15.  We need tech support staff because:
a)    today's computers have Windows and mice; b)    so many people these days use computers;
c)    computers and people do not work in the same way; d)   we have so many call centres these days.
16.  Computers cannot think like human beings because: 

a)   scientists can't program them to do so; b)   we do not know enough about the human brain;
c)    computers can't copy human thought processes; d)   computers do not have robot mechanisms.
17.  Computers cannot use human language because:
a)    they do not understand the grammar; b)   human language does not have any rules;
c)    they can not work out what sentences mean; d)   humans don't want to chat with computers.
18.  What was NOT mentioned about computers is that they: 

a)   can look for specific information; b)   can turn a written text into speech;

 c)  can use optical recognition; d)   can process data.
19.  We cannot use computers to:
a)   model human thinking processes;     b)   create moving machines; 

c)   translate separate words;  d)   find specific information.
20.  According to the text, the ability of computers to talk is: 

a)   quite possible;  b)   rather doubtful; c)   taken for granted;  d)   never spoken about.
                     ІІ етап Всеукраїнської олімпіади з англійської мови 
                                                     Читання  10 клас
Text One: The largest lake in the western United States is the Great Salt Lake, an inland saltwater lake in northwestern Utah, just outside the state capital of Salt Lake City. Rivers and streams feed into the Great Salt Lake, but none drain out of it; this has a major influence on both the salt content and the size of the lake. Although the Great Salt Lake is fed by freshwater streams, it is actually saltier than the oceans of the world. The salt comes from the more than two million tons of minerals that flow into the lake each year from the rivers and creeks that feed it. Sodium and chloride — the components of salt — comprise the large majority of the lake's mineral content.

The Great Salt Lake can vary tremendously from its normal size of 1,700 square miles, depending on long term weather conditions. During periods of heavy rains, the size of the lake can swell tremendously from the huge amounts of water flowing into the Sake from its feeder rivers and streams; in 1980 the lake even reached a size of 2,400 square miles. During periods of dry weather, the size of the lake decreases, sometimes   drastically,   due   to evaporation.

1. The passage is NOT telling about...

a) the location of the lake; b) the formation of the lake; c) the reasons for saltiness; d) the size of the lake.

2. The word «drain» in line 2 means:

a) walk; b) stop; c) flow; d) cross.

3. According to the passage, the size of the lake depends on...

a) one reason;    b) two reasons; c) three reasons; d) four reasons.

4. It may be inferred from the passage that...

a) the water leaves the lake through some underground passages;  b) the water evaporates intensively from the surface; 
c) the water only feeds the lake without leaving it;  d) there is no water at all but a saline and mineral solution.

5. The word «drastically» in line 10 may be best replaced with...

a) immediately;  b) thoroughly; c) to a critical extent; d) weakly.

6. The lake is salty because...

a) salty rivers flow into it; b) its bottom is made of salt;

c) salt is not carried out of the lake; d) it is a part of an ocean.

Text Two:     Probably   the   most   recognized boardgame around the world is the game of Monopoly. In this game, players vie for wealth by buying, selling, and renting properties; the key to success in the game, in addition to a bit of luck, is for a player to acquire monopolies on clusters of properties in order to force opponents to pay exorbitant, rents and fees. Although the game is now published in countless languages and versions, with foreign locations and place names appropriate to the target language adorning its board, the beginnings of the game were considerably more humble. The game was invented in 1933 by Charles Darrow, during the height of the  Great Depression. Darrow, who lived in Germantown, Pennsylvania, was himself unemployed during those difficult financial times. He set the original game not as might be expected in his hometown of Germantown, but in Atlantic City, New Jersey, the site of numerous pre-Depression vacations, where he walked along the Boardwalk and visited at Park Place. Darrow made the first games by hand and sold them locally until Parker Brothers purchased the rights to Monopoly in 1935 and took the first steps toward the mass production of today.

7. The passage implies that Monopoly came to life because its inventor...

a) was a professional boardgame designer; b) was asked to create something of the kind;

c) inherited the game from his parents; d) had a lot of spare time.

8. The word «vie» in line 1 is closest in meaning to...

a)  work;  b) play;  c) compete; d)give up.

9. The game of Monopoly…

a) at first was not very popular; b) won   immediate   recognition around the world;

c) was wide-known before its mass production; d) was stolen by Parker Brothers in 1935.

10. One can make a conclusion that the game...

a) looks the same as before; b) was originally set in Germantown; 

c) has been very profitable; d) is a business failure.

11. The word «site» in line 8 most probably refers to...

a) location;  b) web-site; c) time;   d) popularity.

12. The passage implies that the first game sets...

a) were sold through a network of distributors; b) were not difficult to buy;

c) required much space for production; d) were produced manually.

Text Three :     A supernova occurs when all of the hydrogen in the core of a huge star is transformed to iron and explodes. All stars die after their nuclear fuel has been exhausted. Stars with little mass die gradually, but those with relatively large mass die in a sudden explosion, a supernova. The sudden flash of light can then be followed by several weeks of extremely bright light, perhaps as much light as twenty million stars. Supernovas are not very common; they occur about once every hundred years in any galaxy, and in 1987 a supernova that could be seen by the naked eye occurred in the Magellan Cloud, a galaxy close to the Milky Way. Scientists periodically detect supernova in other galaxies; however, no supernovas have occurred in the Milky Way (the galaxy that includes the Earth) since 1604. One very impressive supernova occurred in the Milky Way on July 4,1054. There was a great explosion followed by three months of lighted skies, and historical chronicles of the time were full of accounts and unusual explanations for the misunderstood phenomenon — many people believed that it meant that the world was coming to an end.

13. The passage mainly deals with the problems of...

a) astronautics; b) astrology; c) astronomy;  d) astrobiology.

14. The word «core» in line 1 most probably means...

a) surface;   b) edge; c) sphere;    d) heart.

15. The process of becoming a supernova involves...

a) a metal turning into a gas; b) a gas turning into a metal;

c) a metal turning into a liquid; d) a gas turning into a liquid.

16. The last supernova in our galaxy occurred...                        

a) in 1054;   b) in 1604; c) in 1987;   d) three months ago. 
17. The word «gradually» in line 3 can be best replaced with...

a) step by step; b) side by side; c) face to face; d) heart to heart.

18. According to the passage, seeing a supernova is...

a) rather special; b) nothing special; c) an exclusive scientific event; d) the end of the world.

Text Four:      IQ, or Intelligence Quotient, is defined as the ratio of a patron's mental age to chronological age, with the ratio multiplied by 100 to remove the decimal. Chronological age is easily determined; mental age is generally measured by some kind of standard test and is not so simple to define. In theory, a standardized IQ test is set up to measure an individual's ability to perform intellectual operations such as reasoning and problem solving. These intellectual operations are considered to represent intelligence. In practice, it has been impossible to arrive at consensus as to which types of intellectual operations demonstrate intelligence. Furthermore, it has been impossible to devise a test without cultural bias, which is to say that any IQ tests so far proposed have been shown to reflect the culture of the test makers. Test takers from that culture would, it follows, score higher on such a test than test takers from a different culture with equal intelligence.

19. The passage is about...

a) calculating IQ; b) intelligence; c) advantages and disadvantages of IQ tests; d) advantages and disadvantages of

different cultures.

20. The word «ratio» in line 1 means the result of...

a) dividing;  b) subtracting; c) multiplying;  d) adding .

21. IQ tests are designed to...

a) determine the level of a person's literacy; b) find how clever a person is; c) define a person's cultural level;

d) admit a person to a college or university.

22. There is a problem in defining...

a) intelligence;  b) culture; c) knowledge;     d) power.

23. The word «consensus» in line 5 may be best replaced with...

a) dedication;   b) agreement; c) answer;        d) argument.

24. According to the passage, the results of IQ tests are...

a) always true;     b) never true; c) sometimes true; d) not important.

Text Five: For a century before the Erie Canal was built, there was much discussion among the general population of the Northeast as to the need for connecting the waterways of the Great Lakes with the Atlantic Ocean. A project of such monumental proportions was not going to be undertaken and completed without a supreme amount of effort.

The man who was instrumental in accomplishing the feat that was the Erie Canal was Dewitt Clinton. As early as

1812, he was in the nation's capital petitioning the federal government for financial assistance on the project, emphasizing what a boon to the economy of the country the canal would be; his efforts with the federal government, however, were not successful. In 1816, Clinton asked the New York State Legislature for the funding for the canal, and this time he did succeed. A canal commission was instituted, and Clinton himself was made head of it. One year later, Clinton was elected governor of the state, and soon after, construction of the canal was started.

The canal took eight years to complete, and Clinton was on the first barge to travel the length of the canal, the Seneca Chief, which departed from Buffalo on October 26, 1825, and arrived in New York City on November 4. Because of the success of the Erie Canal, numerous other canals were built in other parts of the country.

25. According to the passage, the first ideas of the canal came as long ago as in...
a) dedication; b) agreement; c) answer; d) argument.

26. The word «feat» in line 3 most probably refers to...

a) intelligence; b) faith; c) heroism;     d) indifference.

27. The passage implies that Dewitt Clinton must have been...

a) a persistent person; b) a smart engineer; c) a good governor; d) an experienced sailor.

28. The passage does NOT tell about...

a) the location of the canal; b) the head of the project;

c) the cost of construction; d) the amount of time for construction.

29. The word «boon» in line 7 is closest in meaning to...

a) benefit;   b) blow; c) price;      d)toil.

30. It can be inferred from the passage that nowadays the US has...

a) a museum of Dewitt Clinton; b) many artificial waterways; c) fast barges on the canals; d) better federal laws.
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ВИЗНАЧЕННЯ РІВНЯ МОВЛЕННЄВОЇ КОМПЕТЕНЦІЇ (10 клас)

Directions:  Select three tasks from those before you. After selecting three, choose one you are most capable to speak on and return the other two. Take about a minute to collect your thoughts before you begin to speak on the topic. 

1.    Where would you go if you had a chance to choose any place in the world? Why?
2.    What is it that makes a really mature person? How does it depend on a person's age?
3.    What kind of literature is closer to you personally? How different is it from the preferences of the people you know well? What do you think makes the reason?
4.    What would you do if you had the power to regulate the amount of advertising on TV?
5.    What do you think of the so-called "yellow press"? What sort of press do you think is worth reading?
6.     How does your choice of a future career depend on your parents' occupations? What about your friends?
7.     How much does your outlook depend on the opinion of others?
8.    What do you think about the today's multimedia? What would you change or modify to make them most useful?
9.     How do you understand Abraham Lincoln's words "A ballot is stronger than a bullet"? Do you agree or disagree?
10.  What makes a good actor (actress)? Who is your favorite one? Why? Is your preference the same as the others'?
11.   What do you think makes an independent person? How far can independence go? Are you independent?

12.  What do you think about screen versions of famous books? What book do you think is worth screening? Why?
13.   How can you explain that many singers and bands have been releasing remakes of old compositions rather than creating new ones?
14.  How do you view an ideal school? Is it much different from what you already have?
15.  There is a well-known saying "We Are What We Eat". How do you understand it? Do you agree?
16.  How do you understand the proverb "The only free cheese is in a mousetrap"? Do you agree? How would you apply this proverb to modern life?
17.  What 3 Wishes of yours would you ask a fairy to make true? Why?
18.  Do you think you would bring up your own children differently from the way you have been brought up by your parents?
19.  Do you agree with the saying "Laziness is the engine of progress"?
20.  Do you agree that today everyone cannot but live just for his/her own sake?
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                          ТВОРЧА ПИСЬМОВА РОБОТА (10 КЛАС)

Directions: choose one topic given below and write a composition  (20 sentences). 

1.     The great aim of education is not knowledge but action. Herbert Spencer, English philosopher.
2.    Experience is good, if not bought too dear. English Proverb.
3.    Necessity never made a good bargain. American Proverb.

